Pop Quiz / Collaborative Learning

¢ You can ask me to show any page from
any lecture. Although everyone else get
to see it too.

o First Group in with 3 correct answer gets. ..



Move to observable space. ..
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j Taylor Expansion

Substitute in deceleration and
Hubble Constants

Non-trivial algebra. ..
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Substitute in for ty-t in
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Multiply a(t) and r
expansions to get



Luminosity Distance - GR + Homogenous Isotropic Universe
for a monochromatic source
(defined as inverse-square law)
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the flux an observer sees of an object at redshift z
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Brightness of object depends exclusively on what is in the Universe
How much and its equation of state.



